BID SUMMARY March 4, 2013

1. No. CC030413-02.1 – Canyon Lake Dam Reconstruction Vision 2012 Phase Four, Project No. PW08-1743 / CIP No. 50739 (Opened on February 26, 2013)

ADVERTISING AUTHORITY	\$3,518,875.00
ENGINEER'S ESTIMATE	\$3,825,400.00

	Base Bid
1. Scull Construction Service, Inc.**	\$3,721,141.21
2. ASI Constructors, Inc.**	\$4,887,430.00
3. Heavy Constructors, Inc.**	\$3,903,096.85
4. R.C.S. Construction, Inc.**	\$4,899,390.00

2. No. CC030413-02.2 - 30" Steel Water Main Cathodic Protection System (CPS) Rehabilitation, Project No. 12-2015 / CIP No. 50902 (Opened on February 26, 2013)

ADVERTISING AUTHORITY	\$225,000.00
ENGINEER'S ESTIMATE	\$225,000.00

1. Goudy Engineering, Inc.**

Base Bid
\$257,488.66

3. No. CC030413-02.3 - 2012 Annual 4" Watermain Replacement, Project No. 12-1925 / CIP No. 50835 (Opened on February 26, 2013)

ADVERTISING AUTHORITY	\$485,000.00
ENGINEER'S ESTIMATE	\$514,042.57

	Base Bid
1. Hills Materials Company**	\$452,590.45
2. R.C.S. Construction, Inc.**	\$462,183.50
3. Mainline Contracting, Inc.**	\$480,481.85
4. Quinn Construction, Inc.**	\$627,842.00
5. Site Work Specialists, Inc.**	\$480,405.08
6. Highmark, Inc.**	\$457,291.75

4. No. CC030413-02.4 - One (1) Package (Off-Sale) Liquor License (Opened on February 25, 2013)

	Base Bid
1. Fresh Start Convenience Stores, Inc.*	\$25,500.00
2. Target Corporation*	\$10,501.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: February 26, 2013

PROJECT: 2012 Annual 4" Watermain Replacement

Project No. 12-1925 / CIP No. 50835

RECOMMENDATION: Award Total Bid in the amount of \$452,590.45 to Hills Materials Company at the March 4, 2013 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS

TOTAL BID

Hills Materials Company	\$452,590.45
Highmark, Inc.	\$457,291.75
R.C.S. Construction, Inc.	\$462,183.50
Site Works Specialists, Inc.	\$480,405.08
Mainline Contracting, Inc.	\$480,481.85
Quinn Construction, Inc.	\$627,842.00

City staff recommends awarding this project to Hills Materials Company for a total bid amount of \$452,590.45 based on unit pricing with the following appropriation:

FUNDING SOURCE
ADVERTISING AUTHORITY
ENGINEER'S ESTIMATE

TOTAL	Water Expansion	Sewer	Streets
\$485,000.00	\$405,000.00	\$43,000.00	\$37,000.00
\$514,042.57	\$	\$.	\$

APPROPRIATION DATA:

FUNDING SOURCE
COST CENTER
LINE ITEM
FUNDING CENTER
BID AMOUNT

TOTAL	Water Expansion	Sewer	Street
to the object of the second se	0934	0833	8910
1911/1910 1d 1	4381	4380	4370
7997 - 5 - 1 = 5 = 2 = 5 = 2 = 1 - 2 , 2 5 5 5 5 5 5 5 5 5	0602	0604	0505
\$452,590.45	\$381,223.88	\$32,607.35	\$38,759.23

PROJECT MANAGER:

Keith Johnson City of Rapid City DATE: 2/27/13

PROJECT NAME: 2012 ANNUAL 4" WATERMAIN REPLACEMENT

PROJECT NUMBER: PROJECT NO. 12-1925 / CIP NO. 50835

LET DATE: FEBRUARY 26, 2013

LOW BID AMOUNT: \$452,590.45

	- <u> </u>				ENGINEER'S ESTIMATE		HILLS MATERIALS COMPANY		HIGHMARK, INC		R.C.S. CONSTRUCITON, INC		SITE WORK SPECIALISTS,		MAINLINE CONTRACTING, INC		QUINN CONSTRUCTION, INC	
ITEM NO.	STD. BID ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1_	001.01	MOBILIZATION	LS	1	20000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$30,000.00	\$30,000.00	\$32,000.00	\$32,000.00	\$4,500.00	\$4,500.00	\$37,000.00	\$37,000.00	\$59,000.00	\$59,000.00
2	001.02	INCIDENTAL.	LS	1	15000.00	\$15,000.00	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$8,250.00	\$8,250.00	\$26.000.00	\$26,000.00	\$41,000.00	\$41,000.00	\$7,500.00	\$7,500.00
3	001.03	CONSTRUCTION STAKING	LS	1	5000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$6,750.00	\$6,750.00	\$5,900.00	\$5,900.00	\$7,200.00	\$7,200.00	\$5,450.00	\$5,450.00	\$10,000.00	\$10,000.00
4	B01.01	REMOVE SANITARY SEWER MAIN	LF	278	6.30	\$1,750.62	\$1.75	\$486,50	\$2.00	\$556.00	\$2.00	\$556.00	\$30.00	\$8,340.00	\$3.80	\$1,056.40	\$12.00	\$3,336.00
5	B02.02	REMOVE & SALVAGE FIRE HYDRANT & AUX VALVE	EA	2	460.39	\$920.78	\$140.00	\$280.00	\$100.00	\$200.00	\$200.00	\$400.00	\$550.00	\$1,100.00	\$370.00	\$740.00	\$500.00	\$1,000.00
6	B02.05	REMOVE CURB STOP AND BOX	EA	35	80.00	\$2,800.00	\$60.00	\$2,100.00	\$10.00	\$350.00	\$20.00	\$700.00	\$200.00	\$7,000.00	\$110.00	\$3,850.00	\$250.00	\$8,750.00
7	B05.10	REMOVE AC PAVEMENT	SY	2600	7.05	\$18,333.90	\$4.50	\$11,700.00	, \$2.00	\$5,200.00	\$4.00	\$10,400.00	\$6.50	\$16,900.00	\$3.70	\$9,620.00	\$10.00	\$26,000.00
8	B05.15	REMOVE PCC DRIVEWAY PAVEMENT	SF	3200	1.50	\$4,800.00	\$1.00	\$3,200.00	\$10.00 ₁	\$32,000.00	\$1.00	\$3,200.00	\$1.70	\$5,440.00	\$0.35	\$1,120,00	\$3.00	\$9,600.00
9	B05.18	REMOVE CONCRETE CURB & GUTTER	LF	1300	7.34	\$9,542.39	\$2.75	\$3,575.00	, \$10.00	\$13,000.00	\$3.50	\$4,550.00	\$3.75	\$4,875.00	\$1.45	\$1,885.00	\$4.00	\$5,200.00
10	B05.21	REMOVE CONCRETE FILLET	SY	30	12.70	\$380.98	\$10.00	\$300.00	\$10.00	\$300.00	\$13.50	\$405.00	\$11.26	\$337.80	\$3.70	\$111.00	\$10.00	\$300.00
11	B05.25	REMOVE PCC SIDEWALK	SF	1500	2.74	\$4,115.70	\$1.70	\$2,550.00	\$2.00	\$3,000.00	\$1.75	\$2,625.00	\$3.00	\$4,500.00	\$0.45	\$675.00	\$2.25	\$3,375.00
12		REMOVE TYPE C RETAINING WALL, 1' HIGH	ĹF	12	15.00	\$180.00	\$10.00	\$120.00	\$40.00	\$480.00	\$30.00	\$360.00	\$28.00	\$336.00	\$5.35	\$64.20	\$10.00	\$120.00
13		REMOVE TREE, 18" DIA	EA	1	750.00	\$750.00	\$350.00	\$350.00	\$500.00	\$500.00	\$550.00	\$550.00	\$1,000.00	\$1,000.00	\$230.00	\$230.00	\$600.00	\$600.00
14	B06.08	REMOVE TREE, 36" DIA	EA	11	1200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,350.00	\$1,350.00	\$510.00	\$510.00	\$1,000.00	\$1,000.00
15	C01.01	AASHTO T-180 SOIL TEST	EA	4	208.56	\$834.25	\$175.00	\$700.00	\$150.00	\$600.00	\$150.00	\$600.00	\$240.00	\$960.00	\$140.00	\$560.00	\$150.00	\$600.00
16	C02.01	UNCLASSIFIED EXCAVATION	CY	265	8.00	\$2,120.00	\$50.00	\$13,250.00	\$7.00	\$1,855.00	\$9.50	\$2,517.50	\$12.00	\$3,180.00	\$20.00	\$5,300,00	\$15.00	\$3,975.00
17	C02.02	UNCLASSIFIED EXCAVATION, DIGOUTS	CY	50	12.00	\$600.00	\$7.85	\$392.50	\$15.00	\$750.00	\$5.00	\$250.00	\$15.00	\$750.00	\$16.00	\$800.00	\$20.00	\$1,000.00

_	T																	
18	C07.05	SODDING	SY	800	9.00	\$7,200.00	\$5.50	\$4,400.00	\$5.50	\$4,400.00	\$7.50	\$6,000.00	\$8.35	\$6,680.00	\$10.65	\$8,520.00	\$5.50	\$4,400.00
19	C08.03	SEEDING, FERTILIZING, & MULCHING	SY	1400	2.00	\$2,800.00	\$1.50	\$2,100.00	\$1.50	\$2,100.00	\$2.50	\$3,500.00	\$1.50	\$2,100.00	\$3.50	\$4,900.00	\$1.50	\$2,100.00
20	D06.02	WATER MAIN CONCRETE ENCASEMENT	EA	2	800.00	\$1,600.00	\$765.00	\$1,530.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
21	D07.01	WATER MÁIN INSULATION	SF	250	3.00	\$750.00	\$6.25	\$1,562.50	\$ 11.00	\$2,750.00	\$5.50	\$1,375.00	\$13.00	\$3,250.00	\$3.78	\$945.00	\$5.00	\$1,250.00
22	D08.02	IMPORTED BACKFILL MATERIAL (TRENCH)	CY	100	15.67	\$1,566.65	\$7.00	\$700.00	\$11.00	\$1,100.00	\$5.00	\$500.00	\$12.00	\$1,200.00	\$8.00	\$800.00	\$10.00	\$1,000.00
23	D09.01	TYPE I BEDDING MATERIAL	T	50	18.84	\$942.03	\$19.00	\$950.00	\$17.00	\$850.00	\$10.00	\$500.00	\$24.00	\$1,200.00	\$12.00	\$600.00	\$25.00	\$1,250.00
24	D09.02	TYPE II BEDDING MATERIAL	Т	50	22.49	\$1,124.50	\$16.00	\$800.00	\$18.50	\$925.00	\$10.00	\$500.00	\$24.00	\$1,200.00	\$12.00	\$600.00	\$25.00	\$1,250.00
25	D10.01	TYPE III FOUNDATION MATERIAL	Т	50	25.00	\$1,250.00	\$18.00	\$900.00	\$19.00	\$950.00	\$10.00	\$500.00	\$23.00	\$1,150.00	\$12.00	\$600.00	\$25.00	\$1,250.00
26	E02.03	8" PVC SEWER MAIN (8'-10')	ĹF	90	38.33	\$3,449.46	\$42.00	\$3,780.00	\$30.50	\$2,745.00	\$30.00	\$2,700.00	\$30.00	\$2,700.00	\$32.00	\$2,880.00	\$57.00	\$5,130.00
27	E02.04	8" PVC SEWER MAIN (10'-12')	LF	188	41.58	\$7,817.89	\$42.00	\$7,896.00	\$30.50	\$5,734.00	\$30.00	\$5,640.00	\$31.00	\$5,828.00	\$37.00	\$6,956.00	\$58.00	\$10,904.00
28	E14.01	4" PVC SEWER SERVICE LINE	LF	156	38.87	\$6,063.80	\$20.00	\$3,120.00	\$38.50	\$6,006.00	\$28.50	\$ 4,446.00	\$21.00	\$3,276.00	\$27.00	\$4,212.00	\$45.00	\$7,020.00
29	E15.01	REMOVE & REPLACE MH RING & COVER AND FURNISH & INSTALL CHIMNEY SEAL	EA	2	1000.00	\$2,000.00	\$800.00	\$1,600.00	\$685.00	\$ 1,370.00	\$900.00	\$1,800.00	\$890.00	\$1,780.00	\$950.00	\$1,900.00	\$1,000.00	\$2,000.00
30	E17.01	POUR MANHOLE INVERT	EA	1	500.00	\$500.00	\$350.00	\$350.00	\$810.00	\$810.00	\$300.00	\$300.00	\$450.00	\$450.00	\$850.00	\$850.00	\$700.00	\$700.00
31	E21.01	4" PVC SEWER CLEANOUT	EA	4	234.78	\$939.10	\$200.00	\$800.00	\$200.00	\$800.00	\$120.00	\$480.00	\$70.00	\$280.00	\$130.00	\$520.00	\$250.00	\$1,000.00
32	E24.02	CONNECT TO EXISTING SEWER MAIN	EA	2	715.54	\$1,431.07	\$400.00	\$800.00	\$500.00	\$1,000.00	\$240.00	\$480.00	\$800.00	\$1,600.00	\$800.00	\$1,600.00	\$750.00	\$1,500.00
33	E24.04	RECONNECT SEWER SERVICE	EA	4	410.50	\$1,642.01	\$185.00	\$740.00	\$65.00	\$260.00	\$140.00	\$560.00	\$600.00	\$2,400.00	\$150.00	\$600.00	\$250.00	\$1,000.00
34	F01.01	6" PVC WATER MAIN C-900, CLASS 150	LF	41	38.84	\$1,592.49	\$20.00	\$820.00	\$65.00	\$2,665.00	\$35.00	\$1,435.00	\$24.50	\$1,004.50	\$28.00	\$1,148.00	\$40.00	\$1,640.00
35	F01.05	8" PVC WATER MAIN C-900, CLASS 150	LF	1536	34.04	\$52,291.28	\$42.00	\$64,512.00	\$26.75	\$41,088.00	\$32.00	\$49,152.00	\$30.00	\$46,080.00	\$34.00	\$52,224.00	\$44.00	\$67,584.00
36	F06.07	6" 45 DEGREE BEND	EA	4	328.42	\$1,313.69	\$450.00	\$1,800.00	\$370.00	\$1,480.00	\$450.00	\$1,800.00	\$460.00	\$1,840.00	\$675.00	\$2,700.00	\$650.00	\$2,600.00
37	F06.11	8" 45 DEGREE BEND	EA	6	407.33	\$2,443.97	\$330.00	\$1,980.00	\$265.00	\$1,590.00	\$350.00	\$2,100.00	\$440.00	\$2,640.00	\$575.00	\$3,450.00	\$750.00	\$4,500.00
38	F06.12	8" 90 DEGREE BEND	EA	2	431.05	\$862.10	\$600.00	\$1,200.00	\$425.00	\$850.00	\$525.00	\$1,050.00	\$480.00	\$960.00	\$725.00	\$1,450.00	\$750.00	\$1,500.00
39	F07.04	8" X 8" CROSS	EA	1	600.00	\$600.00	\$1,200.00	\$1,200.00	\$785.00	\$785.00	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,200.00	\$1,200.00	\$1,300.00	\$1,300.00
40	F10.03	8" HIGH DEFLECTION COUPLING	EA	1	231.94	\$231.94	\$100.00	\$100.00	\$90.00	\$90.00	\$170.00	\$170.00	\$105.00	\$105.00	\$370.00	\$370.00	\$200.00	\$200.00
41	F12.03	8" X 6" REDUCER	EA	2	343.45	\$686.90	\$480.00	\$960.00	\$425.00	\$850.00	\$525.00	\$1,050.00	\$500.00	\$1,000.00	\$680.00	\$1,360.00	\$750.00	\$1,500.00

		T		I .														
42	F13.05	8" X 8" X 6" TEE	EA	3	505.52	\$1,51 6 .55	\$525.00	\$1,575.00	\$352.00	\$1,056.00	\$500.00	\$1,500.00	\$600.00	\$1,800.00	\$680.00	\$2,040.00	\$750.00	\$2,250.00
43	F15.03	8" GATE VALVE W/ BOX	EA	7	1700.00	\$11,900.00	\$1,600.00	\$11,200.00	\$1,500.00	\$10,500.00	\$1,700.00	\$11,900.00	\$1,600.00	\$11,200.00	\$1,600.00	\$11,200.00	\$2,000.00	\$14,000.00
44	F17.01	FIRE HYDRANT W/AUX VALVE & BOX	EA	3	4890.21	\$14,670.64	\$4,500.00	\$13,500.00	\$4,500.00	\$13,500.00	\$4,700.00	\$ 14,100.00	\$4,800.00	\$14,400.00	\$5,100.00	\$15,300.00	\$5,500.00	\$16,500.00
45	F20.01	1* COPPER SERVICE	LF	1302	35.00	\$45,570.00	\$32.65	\$42,510.30	\$28.00	\$36,456.00	\$30.00	\$39,060.00	\$19.50	\$25,389.00	\$23.00	\$29,946.00	\$58.00	\$75,516.00
46	F23.01	1" TAPPING SADDLE	EA	35	257.66	\$9,017.94	\$100.00	\$3,500.00	\$95.00	\$3,325.00	\$175.00	\$6,125.00	\$140.00	\$4,900.00	\$85.00	\$2,975.00	\$300.00	\$10,500.00
47	F24.01	1" CURB STOP & BOX	EA	35	320.94	\$11,233.00	\$250.00	\$8,750.00	\$300.00	\$10,500.00	\$270.00	\$9,450.00	\$360.00	\$12,600.00	\$230.00	\$8,050.00	\$450.00	\$15,750.00
48	F26.01	CONNECT TO EXISTING WATER MAIN	EA	6	1509.50	\$9,057.00	\$265.00	\$1,590.00	\$1,000.00	\$6,000.00	\$360.00	\$2,160.00	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00	\$1,600.00	\$9,600.00
49	F26.03	RECONNECT WATER SERVICE	EA	35	314.24	\$10,998.37	\$65.00	\$2,275.00	\$100.00	\$3,500.00	\$125.00	\$ 4,375.00	\$580.00	\$20,300.00	\$450.00	\$15,750.00	\$250.00	\$8,750.00
50	F33.01	CATHODIC CONTROL TEST STATION	EA	2	467.83	\$935.66	\$240.00	\$480.00	\$500.00	\$1,000.00	\$260.00	\$520.00	\$280.00	\$560.00	\$300.00	\$600.00	\$450.00	\$900.00
51	F33.03	CATHODIC PROTECTION	LS	1	25000.00	\$25,000.00	\$21,075.00	\$21,075.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$14,500.00	\$14,500.00	\$29,000.00	\$29,000.00
52	H01.01	EROSION AND WATER POLLUTION CONTROL	LS	1	2000.00	\$2,000.00	\$1,650.00	\$1,650.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00
53	H13.01	VEHICLE TRACKING CONTROL	EA	2	150.00	\$300.00	\$825.00	\$1,650.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,600.00	\$3,200.00	\$325.00	\$650.00	\$1,000.00	\$2,000.00
54	H15.01	9" WATTLES	LF	380	5.50	\$2,090.00	\$4.25	\$1,615.00	\$4.50	\$1,710.00	\$5.00	\$1,900.00	\$4.50	\$1,710.00	\$3.00	\$1,140.00	\$5.00	\$1,900.00
55		REMOVE & RESET WATTLES	LF	100	1.00	\$100.00	\$1.70	\$170.00	\$1.75	\$175.00	\$2.50	\$250.00	\$1.80	\$180.00	\$1.00	\$100.00	\$2.00	\$200.00
56		REMOVE WATTLES	LF	380	2.00	\$760.00	\$0.75	\$285.00	\$0.75	\$285.00	\$1.50	\$570.00	\$0.75	\$285.00	\$0.50	\$190.00	\$1.00	\$380.00
_ 57	H15.03	SEDIMENT FILTER BAGS	<u>L</u> F	256	6.00	\$1,536.00	\$4.85	\$1,241.60	\$ 4.75	\$1,216.00	\$11.00	\$2,816.00	\$5.25	\$1,344.00	\$3.25	\$832.00	\$6.00	\$1,536.00
58		REMOVE & RESET SEDIMENT FILTER BAGS	LF	100	1.00	\$100.00	\$1.75	\$175.00	\$1.75	\$175.00	\$2.00	\$200.00	\$1.80	\$180.00	\$1.00	\$100.00	\$5.00	\$500.00
59		REMOVE SEDIMENT FILTER BAGS	LF	256	2.00	\$512.00	\$1.15	\$294.40	\$1.25	\$320.00	\$2.50	\$640.00	\$1.25	\$320.00	\$0.50	\$128.00	\$6.00	\$1,536.00
60	H16.01	EROSION CONTROL, INLET PROTECTION	EA	1	155.45	\$155.45	\$135.00	\$135.00	\$135.00	\$135.00	\$300.00	\$300.00	\$150.00	\$ 150.00	\$100.00	\$100.00	\$150.00	\$150.00
61	I01.02	AGGREGATE BASE COURSE, 1*	т	950	26.41	\$25,087.98	\$31.50	\$29,925.00	\$17.00	\$16,150.00	\$22.00	\$20,900.00	\$24.00	\$22,800.00	\$22.50	\$21,375.00	\$30.00	\$28,500.00
62	102.03	GRAVEL SURFACING, TEMPORARY	т	150	22.79	\$3,418.85	\$23.50	\$3,525.00	\$15.00	\$2,250.00	\$23.00	\$3,450.00	\$21.00	\$3,150.00	\$18.00	\$2,700.00	\$25.00	\$3,750.00
63	104.03	AC, CLASS G, TYPE 1 PG64-28	Т	575	90.00	\$51,750.00	\$76.50	\$43,987.50	\$86.10	\$49,507.50	\$95.00	\$54,625.00	\$105.00	\$60,375.00	\$82.75	\$47,581.25	\$90.00	\$51,750.00
64	114.01	PCC APPROACH PAVEMENT, 6" REINFORCED	SY	15	129.01	\$1,935.15	\$61.00	\$915.00	\$60.75	\$911.25	\$85.00	\$1,275.00	\$67.00	\$1,005.00	\$69.00	\$1,035.00	\$60.00	\$900.00
65	117.01	PCC APPROACH PAVEMENT, 6* NONREINFORCED	SY	130	66.21	\$8,607.25	\$54.00	\$7,020.00	\$58.50	\$7,605.00	\$63.00	\$8,190.00	\$64.00	\$8,320.00	\$67.00	\$8,710.00	\$60.00	\$7,800.00

66	118.03	PCC DRIVEWAY PAVEMENT 6", NONREINFORCED	SF	2400	7.00	\$16,800.00	\$6.25	\$15,000.00	\$6.50	\$15,600.00	\$6.75	\$16,200.00	\$7.00	\$16,800.00	\$7.25	\$17,400.00	\$7.00	\$16,800,00
67	124.01	CONCRETE FILLET, 6" REINFORCED	SY	30	66.26	\$1,987.72	\$65.00	\$1,950.00	\$60.75	\$1,822.50	\$85.00	\$2,550.00	\$67.00	\$2,010.00	\$58.00	\$1,740.00	\$60.00	\$1,800.00
68	133.01	CONCRETE SIDEWALK, 4" NONREINFORCED	SF	1500	7.00	\$10,498.65	\$6.50	\$9,750.00	\$4.25	\$6,375.00	\$7.00	\$10,500.00	. \$4.60	\$6,900.00	\$5.10	\$7,650.00	\$5.00	\$7,500.00
69	[38.01	DETECTABLE WARNING PANEL	SF	40	82.16	\$3,286.27	\$32.75	\$1,310.00	\$32.75	\$1,310.00	\$30.00	\$1,200.00	\$36.00	\$1,440.00	\$31.00	\$1,240.00	\$38.00	\$1,520.00
70	139.01	CONCRETE TYPE C RETAINING WALL (0- 2')	LF	12	63.68	\$764.21	\$30.00	\$360.00	\$14.25	\$171.00	\$83.00	\$996.00	\$16.00	\$192.00	\$15.00	\$180.00	\$20.00	\$240.00
71	J20.02	DECIDUOUS TREE (2-3" CAL)	EA	3	551.46	\$1,654.37	\$475.00	\$1,425.00	\$475.00	\$1,425.00	\$500.00	\$1,500.00	\$515.00	\$1,545.00	\$450.00	\$1,350.00	\$500.00	\$1,500.00
72	L03.03	COLD APPLIED PLASTIC PAVEMENT MARKING, 12"	<u>L</u> F	30	90.28	\$2,708.43	\$5.65	\$169.50	\$5.75	\$172.50	\$6.00	\$180.00	\$6.20	\$186.00	\$5.40	\$162.00	\$6.00	\$180.00
73	L03.05	COLD APPLIED PLASTIC PAVEMENT MARKING, 24"	LF	14	18.83	\$263.61	\$22.60	\$316.40	\$22.50	\$315.00	\$25.00	\$350.00	\$24.77	\$346.78	\$21.50	\$301.00	\$25.00	\$350.00
74	L06.01	TRAFFIC CONTROL	LS	1	2500.00	\$2,500.00	\$4,770.00	\$4,770.00	\$4,747.50	\$4,747.50	\$5,700.00	\$5,700.00	\$5,200.00	\$5,200,00	\$4,550.00	\$4.550.00	\$4.800.00	\$4.800.00
75		CURB AND GUTTER	LF	1,300.00	18.00	\$23,400.00	\$18.00	\$23,400.00	\$15.50	\$20,150.00	\$27.00	\$35,100.00	\$17.00	\$22,100.00	\$17.00	\$22,100.00	\$16.00	\$20,800.00
76		AC, CLASS G, TYPE 1 PG64-22	Т	175.00	120.00	\$21,000.00	\$99.95	\$17,491.25	\$112.50	\$19,687.50	\$125.00	\$21,875.00	\$125.00	\$21,875.00	\$106.00	\$18,550.00	\$110.00	\$19,250.00
77		REMOVÉ TREE, 12*	EA	1.00	500.00	\$500.00	\$300.00	\$300.00	\$300.00	\$300.00	\$350.00	\$350.00	\$350.00	\$350.00	\$200.00	\$200.00	\$700.00	\$700.00
78		REMOVE TREE, 24"	EA	1.00	1000.00	\$1,000.00	\$700.00	\$700.00	\$700.00	\$700.00	\$775.00	\$775.00	\$500.00	\$500.00	\$400.00	\$400.00	\$900.00	\$900.00
		TOTAL				\$514,042.57		\$452,590.45		\$457,291.75		\$462,183.50		\$480,405.08		\$480,481.85		\$627,842.00

CITY OF RAPID CITY

Reviewed by:

Keith Johnson 2/27/13
Keith Johnson Date
City of Rapid City